1. o= J™0A za 9 2717

O 40° @ 50° @ 60° @ 70° ® 80°



;}?% oA x, y o g

® x=20°,y=20°

® x=20°,y=35°

® x=25°,y=055°



3. oS 3P4 BD & 9 0 9] 20| /BAC = 55° U of, x 9
w2

D 30° @ 35° ® 40° @ 45° ® 50°



.
‘:‘r%/{%]ﬂ Zro] 5.0ptBC = A

5.0ptCD = 5.0ptDE 2 1, /BAE 7
o] A7]=? g
E
B )
C

@ 60° @ 70° ® 80° @ 90° ® 100°



the oA & @ AC, BD © THLE P o] T, 5.0ptBC o Zol7}

6r & o, o] Yo} Ao Zol=?

A
D
P
'A
B C

@© 36m @ 40n ® 44n @ 487 ® 52n



6. o= I o] Yol WHshE x, 2y & 2717

@ 2zx=100° 2y = 80° @ /x=105°, 1y = 80°
@ /x=100° sy =85° @ /x=105° fy=85°

® /x = 110°, Ly = 80°



7. oS 2™ 200 - 2y O] #2 LpR

@® 124° @ 122° ® 120° @ 118° ® 116°



@® 93° @ 95° ® 96° @ 98° ® 99°



2

5

4 dA, B, C D7

o =
=R

=

9.

o © D//m.}w



10. o3 I3 Zo] 27ty ABCDE 7 ¢
O of WH3st LA =85°, /D =150° ¥ A///fﬁ\\\E
o, /BOC 9] 27]=2

@® 90° @ 100° 3 140°

@ 110° ® 120°



11, ok 2RelA B = 73 L ), 2x O] 27)5 F5pA?

@© 57° @ 65° ® 73 @ 90° ® 107°



12.

ohe agel4 24 PQ 7 9 0 o A4
ol A B 7 AAY ©, zA0C 9] 7]

=9

@® 95° @ 100° ® 105°
@ 110° ® 115°




13. e I AT = 9 0 o FAolxw A A = FhA u, sx 9

A71E?

>

@® 42° @ 44° ® 46° @ 48° ® 50°



14.

the 2gelH 24 T o] 9 0 ©f A
Heli, 2 P& 9o| BHY v, BPT
SER

—
]
-

O 40° @ 45° ® 50° @ 55° ® 60°



15. o= 2"elM A4 AT = 9 0 o Aol A A & 11 HHolo
(x+ Ly O] Fhe FHotd?

@® 140° @ 148° ® 152° @ 160° ® 164°



16. o= 2" Zol A P oA A st
(PAC = 85°, /PDB = 32° ¢ uf, /BPD ¢

= 4 0, O A
3717

@® 60° @ 63°

® 65°

@ 68° ® 70°



17. o5 0ABCD 7} ol WA o, 2x o] 27]=7

O 50° @ 52° @ 54° @ 56° ® 58°



18.

th2 H7loAq b H A, B, C, D 7} D 9o Q= AL T
7R_1I7}?
(1]
27]
(1) (2) 3)
D, C C
<
120 10527 40
60N l78° D B
®G) ¢
20\ 50
D B
30°
A™p

® 17 @ 27 @ 371 @ 474 ® 57

™

=



19. the7H el 910 o HA4 PTSHAT 7h 22 ), 4x 9] 2719

@® 30° @ 60° ® 90° @ 120° ® 150°



20.

e 2 AT = R
Aol AAPQE A T

AHolet. The F £7 e

@® /TAB = /ACD
@ (PTA = /BDC
® /QTB = /CDB
@ AB//CD

® AABT o ACDT

A7



